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2. Which step would be correct in simplifying:
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4. Simplify:

| 53,441 = 27
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1. Which of the following variable terms is

a perfect square? »
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3. Find what value should replace the ?
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5. Find what value should replace the ?
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6. Which step would be correct in simplifying:
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8. Find what value should replace the ?
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10. Find what value should replace the ?
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7. Which of the following numbers is
irrational?
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9. Which step would be correct in simplifying:

3\5(2\5 + 2)
313 (253) + 203 (2) < FwF

6/9+63
6/9 +2

11. Which step would be correct in simplifying:
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12. Which step would be correct in simplifying:
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14. Which choice is the following expression

equivalent to: 3,7
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13. Find what value should replace the ?
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15. Find the value of x for the following:
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